I udten weidt
\l National Testing Agency
[Sctioncsts fesocsmont

Test Date : 10 sep 2022 Test Slot : siot 2

Subject : PGQP79-Dev. and Labour studies

Sl. No.1
QBID:1555051

Identify the correct preposition for making a meaningful sentence.

The detectives found that the victim was stabbed the neck.
(1) on

(2) to

(3) in

(4) at

EEEEEIA BT m R
(1) IHI

) gdid

(3) 9&l

(4) HIART

1[Option ID=31301]

2[Option ID=31302]

3[Option ID=31303]
4[Option ID=31304]

Sl. No.2
QBID:1555052

Tdentify meaning of the underlined idiom from the options given.

The students were beaten black & blue by the people of the nearby region because of the protest.
(1) to shout loudly

(2) to beat mercilessly

(3) to curse rudely

(4) to abuse repeatedly

for ool 1 SR $Rd T Bhs! I e ard arg WRad! § U8 & A1 Had 3% T Ped g 2

(1) IfE e
(2) 9y oA
(3) 3U o
(4) I oA

1[Option ID=31345]
2[Option ID=31346]
3[Option ID=31347]
4[Option ID=31348]

Sl. No.3
QBID:1555053

Choose the correct option to make a meaningful sentence.

My mother wears sarees but last time when I her, she salwar suit.
(1) saw. was wearing

(2) $aW. Wort

(3) seeing. is wearing

(4) sce. wear




qUIATE & U Wse] BT T8l PAS -

AT
B. @8R
c.9rd
D. TTHA
E. 3R

I f4u T fomed! & 9 el IR &1 =0 DIfo:
(1) B.A.D.C

2) D.E.B.C

3) EED.A.B

4) C.AE.D

1[Option ID=31373]

2[Option ID=31374]

3[Option ID=31375]
4[Option ID=31376]

Sl. No.4
QBID:1555054

Tdentify the correctly spelt word from the options given below:
(1) Benedicton

(2) Bereavment

(3) Belicose

(4) Blasphemous

Y= 19 91y Gt 11 1 e Sifey
T I T
(QIE) F ™)

SISETe R

I_r!a}.fﬁm 11 |3{cqdiHId HHTH

EEEE 11 [ggdife TA"
midfc V. [gg 999

= feu U fadedl § O U8l 3R &1 949 Sifoi:
(1) A-II. B-IV. C-III. D-I
(2) A-L B-IL C-IV, D-III
(3) A-IV, B-I, C-IIL, D-II
(4) A-IIL B-IV, C-I, D-II

=l Rl

1[Option ID=31377]
2[Option ID=31378]
3[Option ID=31379]
4[Option ID=31380]

Sl. No.5
QBID:1555055

Tdentify antonym for the underlined word in the sentence.

The child was set free after his parents paid the ransom.
(1) abducted

(2) ransacked

(3) freedom

(4) seized




=1 1S 1Y Gl 11 D iR Pifee

a1 T I
W) )
A T8 [ [deHd T
B. [gd 1. [facsl g
C. [fharg 11 [dcdA Wegy
D. [ V. [Ge 9ec

= feu U fowedl § O U8l SR &1 99 S
(1) A-IIL B-L, C-IV, D-II

(2) A-L B-IV. C-II, D-III

(3) A-IL B-IIL C-1. D-IV

(4) A-IV, B.I, C-III, D-IT

1[Option ID=31381]

2[Option ID=31382]

3[Option ID=31383]
4[Option ID=31384]

Sl. No.6
QBID:1555056

Tdentify the correct passive voice for the sentence given below :

The thief stole several possessions from the house. Even the fridge has been emptied.

(1) Several possessions were stolen from the house by the thief. Even the fridge he has emptied.
(2) Several possessions were stolen from the house by the thief. Even the fridge was emptied.
(3) Including the fridge. several possessions from the house have been emptied by the thief.

(4) The thief being stolen several possessions from the house. also fridge has been emptied.

[ & ¥ Y[ rea 91 1 999 DI |

A. QY. g8, ¢, Bl

B. Uy, g4, gfet. T

C. o1, ydy, dfaar, e

D. Y, 301, HardE, g

E. 91, gargdl, goi-iiy, e

i feu U fadedl § O Ugl 3Tk &1 94 Sifoit:
(1) C.E.D. A

(2) B.AE.C

3) A.C.B.E

@ C.B.E. A

1[Option ID=31385]

2[Option ID=31386]

3[Option ID=31387]
4[Option ID=31388]

Sl. No.7
QBID:1555057

Identify the correct indirect speech for the sentence given below:
Rajesh said, "Dr. Babasaheb Ambedkar was born in Mhow, Madhya Pradesh".

(1) Rajesh told that Dr. Babasaheb Ambedkar had born in Mhow, Madhya Pradesh.

(2) Rajesh asked that Dr. Babasaheb Ambedkar born in Mhow, Madhya Pradesh.

(3) Rajesh suggested that Dr. Babasaheb Ambedkar i born in Mhow. Madhya Pradesh.
(4) Rajesh said that Dr. Babasaheb Ambedkar was born in Mhow, Madhya Pradesh.




4 & 3 Tel yaiard! <ss g &1 90 Hifor |

A, ST - Tferd. gt iR, ofeof
B. 1919 - TR, TG, dTd, dSH
C. ST - @4, 3R0Y, B4, [afuT

D. 3[Sl1 - 4, 7T, Hufd, 4u
E. a9 - g9, 3@, SRS, SRad
I f4u T fomed! & 9 el IR &1 =0 DIfo:
(1) HIAA, C.B.D
(2) HIAC. A, D, E
(3) PATE.A.D. C
(4) $IAD. C.B.E

1[Option ID=31389]
2[Option ID=31390]
3[Option ID=31391]
4[Option ID=31392]

Sl. No.8
QBID:1555058

Choose the correct order of the paragraph to create a meaning out of PQRS set :
Saussure stressed

P:in a language's structure and maintained

Q : the interaction at any one time of elements

R : in a network of relations

S : that these were interrelated
(1) RSQP
(2) PSRQ
(3) QPSR
(4) SRPQ
fFaftfadd g as e
A. Eﬁﬁﬁ%’@wﬁﬁz
B. HIRR UG WY |
c. ¥ giiay Rar siang |
D. TP 9P| a1d g el ¥ |
E. QU s iR IR U US &1 |
i fau ¢ faedl # 9 9ad Iugad IR &1 94 BIT:
(1) HAAA. B.C
(2) HAAB.C.D
(3) HAUB.C.E
(4) FIAA.C.D

1[Option ID=31393]
2[Option ID=31394]
3[Option ID=31395]
4[Option ID=31396]

Sl. No.9
QBID:1555059

Choose the correct sentence.
(1) I hope you will excuse me leaving early.

(2) I hope you will excuse my leaving early.
(3) I hope you will excuse mine leaving early.
1

(4) Ihope you will excuse leaving early.




Gl 19 91y Gl 11 1 e Sifey
Tt 1 TR I

A R RepaaeT [ [&Ede g
B_|3iRg GRAT 1. [t & S8R OR Il
C. [37Tei O ATl 11 [G1H o 31T
D PRI ESTaMT IV, [R- @ o8 9OR 6T

A f4u e foed| § 9 9ol 3R &1 98- B
(1) A-IIL B-IV, C-IL, D-I

(2) A-IV, B-IIL C-II, D-I

(3) A-IL B-IIL C-IV, D-I

(4) A-L BIL C-IIL D-IV

1[Option ID=31397]

2[Option ID=31398]

3[Option ID=31399]
4[Option ID=31400]

Sl. No.10
QBID:15550510

Find out which part of the sentence has an error.

(1) With the demand for more working hours.

(2) people are awake till late at night and

(3) indulge in more junk food than home-cooked food.

(4) No Error

Y= 19 91y Gl 11 1 e Sifey

T 1 Tl 11
A [SH P Ued 3991 CCEE]
B. [[SRgH S @i 3281 8l 1. [goy
C. |5l 9% Pio-s U U &l . oy
D. [t e | Fgr et v, [feroiifaer
A< fau U fased! & U 61 SR 31994 Dol

(1) A-IIL B-IV, C-I. D-II
(2) A-IL B-II, C-IIL. D-IV
(3) A-II B-IIIL. C-IV. D-I
(4) A-IV. B-III C-II, D-1
1[Option ID=31305]
2[Option ID=31306]

3[Option ID=31307]
4[Option ID=31308]

Sl. No.11
QBID:15550511

Who among the following was an Indian American biochemist who shared the 1968 Nobel Prize for Physiology or Medicine with
Marshall W. Nirenberg and Robert W. Holley for research that showed the order of nucleotides in nucleic acids, which carry the genetic
code of the cell and control the cell's synthesis of proteins ?

(1) Visvesvaraya

(2) Meghnad Saha

(3) 5.N.Bose

(4) Har Gobind Khurana

frafaRad § 9 $H-91 T YR siive! savard fagm ¢ o e & &3 3 f3u o a1ar 1968 & Fidd PR &1 A1kia
ey AR 3TR TEE Soey Bl &A1Y ATl fohdl foriept fawa &5 U aiid § b gfdisre spa H Gfdmarergs &1 A, Sl
BITAP] P AP DT I 951 Bl § AR UICH B BIRIDT & HIAY B AT Bl g 2

() fadyean

(2) HYIE IIEl

(3) TY. U499

(4) BNTEE GRIAT




1[Option ID=31309]
2[Option ID=31310]
3[Option ID=31311]
4[Option ID=31312]

Sl. No.12
QBID:15550512

India's first National Sport University 1s located in which of the following State/Union Territory of India ?
(1) Delhi

(2) Goa

(3) Manipur

(4) Haryana

YR & Fafafed # 3 $H-3 7o/ 49 Wiid 87 § 4Rd o1 9yE 1P S fayfdemag safd g 2

(1) Ec—ﬁ
(2) TTar

1[Option ID=31313]
2[Option ID=31314]
3[Option ID=31315]
4[Option ID=31316]

Sl. No.13
QBID:15550513

Security Printing and Minting Corporation of India Limited (SPMCIL) has set up two new bank note printing lines which are located in :
(1) Nepanagar and Salboni

(2) Dewas and Nepanagar

(3) Salboni and Hoshangabad

(4) Nashik and Dewas

YR 9idyfd 01 ud ¢ iy fafies @auiuasiisngua) 3 &l 7l 46 e Hid ds-4 wiid @1 § dl sl U Aayd § ?
(1) YR 3R Freai

(2) TGN 3R IR

(3) TreaH! 3R gRETE

(4) Y& 3R Fa™

1[Option ID=31317]
2[Option ID=31318]
3[Option ID=31319]
4[Option ID=31320]

Sl. No.14
QBID:15550514

Which country is the largest shareholder of ATIB (Asian Infrastructure Investment Bank) ?
(1) Germany

(2) France

(3) China

(4) India

S O -1 <V TS 35 al (URTS S[auReH HaY 8&) & 964 g SRS § 2
1) Fat

(2) Hig

(3 T

(4) HRd

1[Option ID=31321]
2[Option ID=31322]
3[Option ID=31323]
4[Option ID=31324]

Sl. No.15
QBID:15550515

Which of the following is TRUE about the Preamble to the Constitution of India ?




(1) 4229 Amendment to the Constitution added words Secular and Socialist to the preamble.

(2) B.R. Ambedkar wrote the Preamble of Constitution of India.
(3) The Preamble was added to the Constitution after the enactment of Constitution itself.
(4) The Preamble has been amended twice since the enactment of the Constitution.

YR Wfau $t wxdaT & aR & Fafifea § e adie

(1) 42 T I HLMeE §RI SR 3 9y FRUe iR JAmeare; 9es oire T |
(2) 9. IR, TSP 7 URd & AU Pl S a] ferdl |

(3) Figy™ H SRl "idu & AUFaaq & gya ool 147 |

(4) JERepT H WG & AR EH b 918 U &1 IR SRy a1 g |

1[Option ID=31325]
2[Option ID=31326]
3[Option ID=31327]
4[Option ID=31328]

Sl. No.16
QBID:15550516

In a row of girls. Roopa is 7% from the left while Sunita is 12® from the right. On interchanging their respective positions, Roopa
becomes 22" from the left. How many total number of girls are there in the row ?

(1) 35

(2) 33

(3) 38

(4) 37

Tsfohdl & Us ufgd § U1 a1 I 7d FHal alfer § 12d WA W & | G & 3709 § 301 o8 daa- |R =01 a1 9 224 RIF |
W B | 39 Ui § asfedl 3 a S e § 2

(1) 35
(2) 33
(3) 3%
(4) 37

1[Option ID=31329]
2[Option ID=31330]
3[Option ID=31331]
4[Option ID=31332]

Sl. No.17
QBID:15550517

In a row of people Anamika is 9t from the left and Urvashi is 13™ from the right. When they change their positions and then Anamika
becomes 18 from the left. What is the new position of Urvashi from the right end of the row ?

(1) 23

(2) 22

(3) 24

(4) 25

T T U Ui & e a8 ¥ of R I e ¥ 133 WA W E | 96 9 0 H WH 950 Al © df SFIHET a1y I 188
RS e | U S el R AT ST RE P AR

(1) 23

(2) 22

(3) 24

(4) 25

1[Option ID=31333]
2[Option ID=31334]

3[Option ID=31335]
4[Option ID=31336]

Sl. No.18
QBID:15550518

In a row of boys, if Akash is 10" from left and Bimal is 9 from the right. When they interchange their positions, then Akash becomes
15™ from the left. How many boys are there in the row ?

(1) 22

(2) 25

(3) 23




(4) 26

TSH B! U Ufad B, SMHT T 104 3R A el Tod WA R e | 9fd 3 309 T 39+ S71E 939 od & af TP 9 F 159
R UR 3 §Ial g | O3 Ul H foha dsdh 6 2

1) 2
(2 2
(3) 23
(4) 26

(3]

Lh

1[Option ID=31337]
2[Option ID=31338]
3[Option ID=31339]
4[Option ID=31340]

Sl. No.19
QBID:15550519

LK. H.R.F. L. N & Q are sitting around a circular table facing the center. H is third to the left of L. who is the immediate right of K. R is
third to the left of N but not neighbour of H or L. J is second to the right of Q. Who is second to the left of N ?

1 Q
(2) Forl
3 J
4) K

I.K.H.R.F.L.N 3R Q Us JullR ¢8d & Rl R &5 & AR UG PR a6 6 | L P dl IR AR |F W H§ | K & qRd alig
%% INS TR AR AW WA RRE A PTG H AL DI USHI A6l ¢ | QP Mg IR WA W IE IN S 1 g8 RIF W B
(1)I Q

(2) FUIN

3) 7

4) K

1[Option ID=31341]

2[Option ID=31342]

3[Option ID=31343]
4[Option ID=31344]

Sl. No.20
QBID:15550520

A.B.C.D.E.F. GandH are players sitting around a round table facing the centre. D 1s the neighbour of A but not of H. B is the
neighbour of F and 4% 5 the left of D. E is the neighbour of H and 3™ to the right of F. C is neither the neighbour of A nor of G.

Which of the following is correct.
(A) B is to the immediate left of H.
(B) H is to the immediate left of E.
(C) D is 4th to the right of F.

(D) H is immediate right of E.
(1) only Aand B

(2) onlyAandC

(3) onlyBand C

(4) only A BandC

U® 7d 29a & =Rl SR A. B, C. D. E. F. G 3R H [G0TS! 5 $1 SR g SRP 96 § | D. ADI TSI § Wb HPI -G | B.F Pl
S e RD P T A WA RE IEHFI IS g AR FF A TR WA R ICATNATT IS ARAG T |

AHPRAEUBT |
BEPRIGTHT |
CFPEAIRERDE |
D.E® RAMGAHE |

" feu e fae el # 9 9ad Sugad SR & 909 BT

(1) Had A IR B
(2) HITAARC




(3) HIAB AR C
(4) FIAT A, B IR C

1[Option ID=31349]
2[Option ID=31350]
3[Option ID=31351]
4[Option ID=31352]

Sl. No.21
QBID:15550521

In a plane, there are 16 non-collinear points. Then the number of straight lines formed is
(1) 24

(2) 30

(3) 60

(4) 120

it FHae U 16 TR-4E 63 © a9 el sl St e faai g 2
(1) 24

(2) 30

(3) 60

(4) 120

1[Option ID=31353]

2[Option ID=31354]

3[Option ID=31355]
4[Option ID=31356]

Sl. No.22
QBID:15550522

A student has to score 30% marks throughout. If he gets 30 marks and fails by 30 marks. then the maximum marks set for the examination
is

(1) 100

(2) 150

(3) 200

(4) 400

fepait faemeff &1 Sl 819 8 UraTe &1 30% 3i% U 31 81 Tf a8 30 9/ UTa1 § @ a8 30 3% ¥ Hd 8 oidl 6, 99 TRIaT &
10 3ifiredu fera i RuiRa fea @ & |

(1) 100

(2) 150

(3) 200

(4) 400

1[Option ID=31357]

2[Option ID=31358]

3[Option ID=31359]
4[Option ID=31360]

Sl. No.23
QBID:15550523

A man bought 20 cows in ¥ 200000. If the average cost of 12 cows 13 ¥ 12500, then the average cost of remaming cows will be ?
(1) ¥ 6250

(2) F 6520

(3) ¥ 6025

(4) ¥ 6052

@I, fad 20 A DI 200000 ¥ H WRidl § | AfE 12 710 BT Si9d Ged 12500 TUU B1, Al DY 141 BT Si16d Jed &1 g 2
(1) 6250307

(2) 652034

(3) 6025307

(4) 6052300

1[Option ID=31361]
2[Option ID=31362]
3[Option ID=31363]
4[Option ID=31364]

Sl. No.24
QBID:15550524




A sum at simple interest of 13% % per annum amounts to F 3080 in 4 yr. then the sum 1s

-

(1) ¥ 3000
(2) # 2000
(3) ¥ 1000
(4) 7 2500

BIE YR 13

(1) 3000 ¥
(2) 2000 39T
(3) 1000394
(4) 2500 30

1[Option ID=31365]
2[Option ID=31366]
3[Option ID=31367]
4[Option ID=31368]

% YIYRUT STl 1 5% & 4 T6f F 3080 TYT 1 Ol € | 98 Y=RIA &

1
2

Sl. No.25
QBID:15550525

The system of equation 2x + 4y + 16 =0and 3x + 6y + 24 =01s
(1) Unique solution
(2) Infinitely many solutions

(3) Inconsistent
(4) Ounly two solutions

THERU Pl gGfd 2x + 4y + 16 =Td 3x + 6y +24 =073 |

(1) 3w ed

(2) IFdTYH 3D g
(3) 3Tdd

(4) FHaaalsd

1[Option ID=31369]
2[Option ID=31370]

3[Option ID=31371]
4[Option ID=31372]

Sl. No.26
QBID:1765201

The first Employment Guarantee Act was enacted by which State Government?
(1) Kerala

(2) Odisha

(3) Rajasthan

(4) Maharashtra

ISR TRET Sff-on Fafiied o 9 fod Isy ReR 3 gduun st fear e
(1) FRA

@) it

(3) IR

(4) HeRIY

1[Option ID=33801]

2[Option ID=33802]

3[Option ID=33803]
4[Option ID=33804]

Sl. No.27
QBID:1765202

Which of these ILO Conventions has been ratified by the Indian Government?
(1) Right to Organize and Collective Bargaining Convention

(2) Discrimination (Employment and Occupation) Convention

(3) Tripartite Consultation (International Labour Standards) Convention

(4) Equal Remuneration Convention




FafaRed o A oF 9 ors a off Sifiem YR WReR gRI g9 B m e
(1) TS Ug Hed FEaTl HUBR Hgny

(2) fave (Fae ud Susiiiden) HiHEH

3) By R (g gu aEe) siteey

(4) g uiRYEe Sy

1[Option ID=33845]
2[Option ID=33846]
3[Option ID=33847]
4[Option ID=33848]

Sl. No.28
QBID:1765203

Which of these women leaders was a part of the Constituent Assembly of India which was elected in 19477
(1) Begum Aizaz Rasul

(2) Aruna Asaf Ali
(3) Kamala Devi Chattopadhyay

(4) K.P. Janaki Ammal

frafeiad O 9 & F 4l Afgar a1 ay 1047 § I 15 YR HGe= FuT &1 YR 24 2

(1) ST TSI 3ge

(2) 3RBUT P 3fcil
(3) DU <l I
(4) & Ol TS T

1[Option ID=33889]
2[Option ID=33890]
3[Option ID=33891]
4[Option ID=33892]

Sl. No.29
QBID:1765204
TT

Who organized agitation against the reduction of the age limit for the Civil Serviee Examination in 18777

(1) B. G. Tilak
(2) Dadabhai Naoroji

(3) S.N. Banerjee
(4) Sisir Kumar Ghosh

forge avf 1877 & ffae afde olien & o1y g i1 &1 &9 53+ o1 faxiy o o)
@) . 5. foere

(2) QIETHTS RISl

(3) T TA. §0if

(4) FRRpAR O™

1[Option ID=33933]
2[Option ID=33934]
3[Option ID=33935]
4[Option ID=33936]

Sl. No.30
QBID:1765205

The book “The Argumentative India™ is written by:
(1) Mulk Raj Anand
(2) Dan Brown

(3) Bimal Jain
(4) Amartya Sen

T SRIgH-Ced Sisar g&ie Fafarad | 9 fo fordi 2
(1) HedIo 3G

(2) S

@) faud o=




@) 3w 3

1[Option ID=33977]
2[Option ID=33978]
3[Option ID=33979]
4[Option ID=33980]

Sl. No.31
QBID:1765206

Which one of these was not written by Karl Marx?

(1) The Thesis on Feuerbach
(2) On the Jewish Question

(3) The Condition of the Working Class in England

(4) Eighteenth Brumaire of Louis Bonaparte

frafaRad gxae! 8§ 3 315 9 S1el 71 gR1 6! ol T3 § 2
(1) T IEH ofF RIS

(2) S gg hET

(3) & oI AP § Al Fer¥ 37 57108

(4) UCIR SR 1% e d S

1[Option ID=34021]
2[Option ID=34022]
3[Option ID=34023]
4[Option ID=34024]

Sl. No.32
QBID:1765207

Arrange in descending order, the following books on the political economy of colonial capitalism. according to the year of publication of
their first edition.

A. Utsa Patnaik and Prabhat Patnaik ---Capitalism and Imperialism

B. Bipan Chandra --- Rise and Growth of Economic Nationalism in India
C. Amiya Bagchi --- The Political Economy of Underdevelopment

D. R.P. Dutt --- India Today

1) A.C,B.D

2 B,A,D,C

3) C.D.AB

@ A B D.C

SH9FATRIe Ysitarg & rei-idd sriorael UR FEfiRad Y| &l 3Hd ol Sehul & UHIRH a¥ & HI8R SaRisl 8 o
AR BHIfI:

A. I 9GP SR YHT GG --- hiuciersd Us guiRkafesH
B. faftH g --- T3S TS MY 3P gHiHIHS A2HfereH g sfean
C. HfHaT Il - & ifcifcda SpIHHT 3 38 Saqude
D. 3R Yl &< --- Sf3q123

= fRu e fowedt & € et SR &1 9o BT

(1) A.C.B.D

(2) B.A.D.C

3) C.D.A.B
(4) A.B.D.C

1[Option ID=34065]
2[Option ID=34066]
3[Option ID=34067]
4[Option ID=34068]

Sl. No.33
QBID:1765208




Match the names of the leaders with the movements in which they participated:

A Tlla Mitra 1. Jan Shiksha Movement
B. Godavari II. Samyukta Maharshtra
Parulekar Movement

C. Ila Bhartacharya 1T Wassi Aadiwasi revolt

D. Ahilya

i IV. Tebhaga Movement

Choose the correct answer from the options given below:
(1) A-IV, B-IIL C-I. D-II
(2) A-L B-II, C-III, D-IV
(3) A-IL B-III. C-1. D-IV
(4) A-IV, B-IIL C-II, D-I

Gl 19 91y Gl 11 1 e Sifey

T I T
N EGIGE] 1. [oiF Fm afigied
B [Tead URa®: [ [Ggad HERIY 3ficieH
C. [gal yeTad 111 Gl SfifedrHi ¥l
D. [3ifeear Tmax V. [ W SffgiaH

Al f4U e fosedl § 9 el 3R B 98- Biforg:
(1) A-IV, B-IIL, C-I, D-II

(2) A-L BIL C-IIL D-IV

(3) A-IL BAIIL C-I, D-IV

(4) A-IV, B-IIL, C-II, D-I

1[Option ID=34093]

2[Option ID=34094]

3[Option ID=34095]
4[Option ID=34096]

Sl. No.34
QBID:1765209

Rank these countries in descending order (with highest ranking being first) as per their scores in the Global Hunger Index, 2021:

A. Cuba

B. Zambia
C. Vietnam
D. Argentina

1) A.D.C.B
(2) B.A.D.C
3) C.D.A.B
(4) A.B.D.C

afe @ GABIP, 2021 H B9 TR & STER AR 3= &1 (G5! HH (SaH & arel 9ad ged) | Jufias S

A. agdl

B. ST
c. fogam
D. 3foiciT

< feu U fadedl § O gl 3R &1 99 Diforu:
1) A.D.C.B
(2) B.A.D.C
3) C.D.A.B
(4) A.B.D.C

1[Option ID=34097]
2[Option ID=34098]




3[Option ID=34099]
4[Option ID=34100]

Sl. No.35
QBID:17652010

Which state has the largest state sponsored women’s employment programme in India?

(1) Tamil Nadu
(2) Karnataka
(3) Kerala
(4) Odisha

R4 H g wea § e wriferd afger fAave @R e s gaiftie § 2

(1) derg
(2) FleHh
(3) HId
(4) 3=

1[Option ID=33805]
2[Option ID=33806]
3[Option ID=33807]
4[Option ID=33808]

Sl. No.36
QBID:17652011

Which report recommended a Conumnon School System for India as a method of achieving national integration?
(1) Report of the Yashpal Committee

(2) Report of the Radhakrishnan Commission

(3) Report of the Acharya Ramamurti Committee

(4) Report of the Kothari Commission

Fafeaa o 9 59 RUE 3 U9 ueteu @t sifold o @1 faftl & w9 1 90 e ugfa @ s @t 2
(1) gre wiAfd Raié

(2) YT 7 R

3) e IEgfd 9l ol

(4) DISRI ATGRT RATe

2[option ID=33810]

3[Option ID=33811]
4[Option ID=33812]

Sl. No.37
QBID:17652012

According to the 715 Round of NSSO’s survey of Indian Farmers. the annual average indebtedness of the Indian Farmer in 2019 was
approximately:

(1) INR 74000
(2) INR 40000
(3) INR 80000
(4) INR 30000
YR YD & NSSO Ha&UT & 719 b & SR, dY 2010 H URTY HYBI BT altid S 4d FHUIYR T fdoaT o1 2
(1) . 74.000
(2) ¥=.40,000
(3) . 80.000
(4) ¥.30.000

1[Option ID=33813]
2[Option ID=33814]
3[Option ID=33815]
4[Option ID=33816]

Sl. No.38
QBID:17652013

The concept of *workfare’ was first popularized by:

(1) Ronald Reagan




(2) Margaret Thatcher

(3) John Major

(4) Jimmy Carter

TP BUR' B Yeped GaUYH g uiaaiiad 1 2
(1) ITes

(2) ARIC YR

(3) AR

@) ot s

1[Option ID=33817]
2[Option ID=33818]
3[Option ID=33819]
4[Option ID=33820]

Sl. No.39
QBID:17652014

When average cost is constant then:

(1) Marginal cost is not constant and not equal to average cost
(2) Marginal cost is constant and greater than average cost

(3) Marginal cost is constant and less than average cost
l

(4) Marginal cost is constant and equal to average cost

w9 3 T g gl §

(1) Juifcre AR F1gd 781 gl 8 SR 318 AFTd & SRIeR T8l gidt
(2) JUifde K o gidl § SR Sid arTd 9 offe gidl 8

(3) Iifce AT F1ad g1l 8 SR S{ed AT § S gl &

(4) Jifcres AR F1gd Bicil § SR 39 dTd & sR1eR §idl &

1[Option ID=33821]
2[Option ID=33822]
3[Option ID=33823]
4[Option ID=33824]

Sl. No.40
QBID:17652015

Minimum wage law for a non-diseriminating monopolist:
(1) Can improve both wage and employment

(2) Cannot improve either wage or employment

(3) Can improve wage but not employment

(4) Can improve employment but not wage

NSO THIGR (FHmieRe ) & for gmam #eigs) Fam:
(1) Foigd Ud FRiieH S & GUR 3R 9&dT 8

) Adaegsl § GUR R Fodl & SR A 5l HgeE o

(3) FOIGA H GUR PR Tl & (g e § el

@) 3 ¥ GuR FR Sadl ¢ fbeg Aoigsl § el

1[Option ID=33825]
2[Option ID=33826]
3[Option ID=33827]
4[Option ID=33828]

Sl. No.41
QBID:17652016

‘Discouraged workers® in a labour market are:
(1) in employment

(2) unemployed

(3) underemployed

(4) Not part of labour foree

AR # gdlciTe! 40 (e vsaad) & -




M) fgeE H

(2) ERISFIR

(3) g

(4) HfTTh 99 P UFT ol

1[Option ID=33829]
2[Option ID=33830]
3[Option ID=33831]
4[Option ID=33832]

Sl. No.42
QBID:17652017

Human Development Index (HDI) is calculated employing:
(1) Geometric mean

(2) Arithmetic mean

(3) Harmonic mean

(4) Median

014 faBT Yadie (HDI) BT uReer Fafefad 3 3 fégd v gri e sare 2
(1) A AIHAIR J1

(2) AR A1

(3) BXIHP HIEH

4 mife®

1[Option ID=33833]
2[Option ID=33834]
3[Option ID=33835]
4[Option ID=33836]

Sl. No.43
QBID:17652018

Unemployment rate among the educated and youth is mostly the general population.

(1) lower than
(2) same as

(3) higher than

(4) do not show any pattern (1.e. random) compared to
fR1ferd ud garsii o aRIGHRT &R OB d: Q= o5 9 =
(1) U BH

(2) & aH
(3) HUETDHd 3D

(4) 1 &g Blg Wiy (o o arefess) weiia 7ol @war

1[Option ID=33837]
2[Option ID=33838]
3[Option ID=33839]
4[Option ID=33840]

Sl. No.44
QBID:17652019

In an economy with full-capacity output, any further rise in aggregate demand would lead to:

(1) Inflation
(2) Deflation
(3) Increase in output

(4) Decrease in output

quf IdTeA &mdl arcll it siferawyn o, amfee aim & sifafad gis Fafifad o 9 e ok o 9
(1) GerEpifd

(2) oIl UEpifa

3) IdEA T glE
(4) 3+ glH

1[Option ID=33841]




2[Option ID=33842]
3[Option ID=33843]
4[Option ID=33844]

Sl. No.45
QBID:17652020

Theory of unbalanced growth was propounded by:

(1) R. Nurkse

(2) AK. Sen

(3) AW.Lewis

(4) A.O. Hirschman

SRigfed ofs Risia Fafafaa & 3 foem ufqurfea fean -
(1) R, T

(2 T&. 99

(3) U Sy, dfdd
) T 3 g

1[Option ID=33849]
2[Option ID=33850]
3[Option ID=33851]
4[Option ID=33852]

Sl. No.46
QBID:17652021

The first five-year plan in India was based on:
(1) Harrod-Domar Model

(2) Solow Model

(3) Mahalanobis Model

(4) AK Model

YR B HuH Gau g gior Hafafad 3 3 fg oR snerfeg ot 2
(1) gUS-SR Hisd

(2) gida arsd

(3) HeHiad drsa

(4) U Hlsd

1[Option ID=33853]
2[Option ID=33854]
3[Option ID=33855]
4[Option ID=33856]

Sl. No.47
QBID:17652022

Which classical economist did not bank on Malthusian Theory of Population to demonstrate that workers would always receive
subsistence wage:

(1) David Ricardo

(2) John Stuart Mill

(3) Karl Marx

(4) James Mill

frafafad § T &F W ufaffd iR SHeen & 39 AT Rgid W Gy 98l Hd: 9l 98 U iRid &=dl ¢ 1@ 4@ $ Jea
witfaept Torgd forerdt 3gil 2

1) 35S fearst

(2) S i

(3) FHTe A

(4) Sy i

1[Option ID=33857]
2[Option ID=33858]
3[Option ID=33859]
4[Option ID=33860]

Sl. No.48
QBID:17652023




Match the following authors and coneepts:

1A Joan Robinson [  General Equilibrium Theory
B. Paul Samuelson |[I Revealed Preference Theorv
C
D

Alfred Marshall |[[II.  Imperfect Competition
Leon Walras V. Partial Equilibrium

Choose the correct answer from the options given below:
(1) A-IIL B-IL. C-IV, D-I
(2) A-L B-II, C-III. D-IV
(3) A-IL B-III. C-1. D-IV
(4) A-IV. B-III C-I. D-II

G 19 Ty Gt 11 1 e Sifsg

T 1 Geipl

(EEP) CELIED)

[ - WWW(WW

5 [ard i Raits Uhd (4R (Iaured gl
o

C [arcthe Oreie | [ErR W de dhUIdi=H (3Ud Wiasael)

D [[13119 ATeiH|IV.[uTRig e S ieieas (3ifRId gH@)

i fU U fdedl © T 9ol 3Tk &1 994 Hifoig:
(1) A-IIL B-IL C-IV, D-I
(2) A-L BIL C-IIL D-IV
(3) A-IL B-IIL C-I. D-IV
(4) A-IV, B-IIL C-I, D-II

—

1[Option ID=33861]
2[Option ID=33862]
3[Option ID=33863]
4[Option ID=33864]

Sl. No.49
QBID:17652024

“The sociologist has to engage in a process of understanding (Ferstehen) because action to which actors attach a subjective meaning is the
subject matter of sociology.”

(1) Karl Marx

(2) Max Weber

(3) Emile Durkheim

(4) George Simmel

THSTRNETT BT TH B Uitear | SNHT §F1 T1feU a-iids off ©1d Sriddrs & [GwTd 3y 3 Uag ¢ 98 JHISRIR &1
fqSTTg A § 1

(1) P grad
2 I TR
(3) FHEA gEH
(4) S R

1[Option ID=33865]
2[Option ID=33866]
3[Option ID=33867]
4[Option ID=33868]

Sl. No.50
QBID:17652025

In the German Ideology, Marx and Engels eriticized one of the followings:
(1) Ludwig Feurerbach

(2) Hegel

(3) Adam Smith

(4) David Ricardo

T foarRyR 4, 719y iR toie A fHafafad 8 9 fege! sra=q &1 2




(1) WW
(2) gha

(3) USH Y

@ 3fos s

1[Option ID=33869]
2[Option ID=33870]
3[Option ID=33871]
4[Option ID=33872]

Sl. No.51
QBID:17652026

The book. “The Condition of the Working class in England™ was written by one of the followings:
(1) Frederick Engels
(2) Karl Marx and Frederick Engels

(3) Adam Smith
(4) Anthony Giddens

B P § dlT] A 34 57108’ I & dlEd HElied 4 4 S g 2
(1) s toed

(2) FId Aad AR held Toe

3) TsH Y

(@) Uy fre=g

1[Option ID=33873]
2[Option ID=33874]
3[Option ID=33875]
4[Option ID=33876]

Sl. No.52
QBID:17652027

Match the following authors and coneepts:

A, John Hicks I. Rational Expectations
B.  Allyn Young 11 Substitution Effect

C Robert Lucas III.  Increasing Returns
D Nicholas Kaldor IV. Expenditure Tax

Choose the correct answer from the options given below:
(1) A-IL B-IIL C-I, D-IV
(2) A-III, B-IL C-I. D-IV
(3) A-IL B-I. C-III. D-IV
(4) A-IV.B-III C-I. D-II

G 19 Ty Gt 11 1 e Sifsg

a1 T I
(GIGED) (ST

A FHEE I [qesTa e

B. [T O M (Ao BHE

C. Risc g 11 [q99H Ulahad

D. [Hbid Pt V. [o0g &

i fau U fasedl § 9 I8 3R &1 99 Difely:

(1) A-IL. B-III. C-1. D-IV
(2) A-III B-II. C-1. D-IV
(3) A- B-I. C-III. D-IV
(4) A-IV. B-III C-I. D-II
1[Option ID=33877]
2[Option ID=33878]

3[Option ID=33879]
4[Option ID=33880]

Sl. No.53
QBID:17652028




Match the following concepts:

1A Barpaining Power 1. Capital Accumulation

B. Involuntary

II Reserve Armyv of Labour
(Unemplovment &

III.  Speculative Demand for

Monev

D Comparative =
IV

Advantage

C.  Surplus Value

Unit cost

Choose the correct answer from the options given below:
(1) A-IL B-III. C-1. D-IV
(2) A-III, B-IL C-I. D-IV
(3) A-IL B-I. C-III. D-IV
(4) A-IV, B-IIL C-I. D-II

Gl 19 91y Gl 11 1 e Sifey

T 1 TH I
N GREIES] W EEERE
B. |35 sRIeHTRI 11 |3RI& Y O
C. [&9=1 54 II1. |3Uef 5o AT
D. [JoHTH® garH V. [§%T3 aFId
A f4u e fased| § 9 96l 3R &1 98- Bl

(1) A-IL B-III. C-L. D-IV
(2) A-IIL B-II. C-1. D-IV
(3) A-IL B-I. C-IIL D-IV
(4) A-IV.B-III C-I. D-II
1[Option ID=33881]
2[Option ID=33882]

3[Option ID=33883]
4[Option ID=33884]

Sl. No.54
QBID:17652029

The book “Slavery™ was written by:
(1) Abraham Lincoln

(2) Mahatma Phule

(3) Mahatma Gandhi

(4) Martin Luther King Jr.

W J&P & oE® HEad § 9 dH 42
(1) 3ETEH fdieA

(2) TR Pl

(3) HgTET e

(4) T PR T g R

1[Option ID=33885]
2[Option ID=33886]
3[Option ID=33887]
4[Option ID=33888]

Sl. No.55
QBID:17652030

One of the followings wrote “Negative Dialecties™
(1) Karl Marx

(2) Theodor Adorno

(3) Hegel

(4) Max Weber

frafafad 3 9 foum ffes smafeay g fod 2
(1) e AT




@) fEER TsSHl
(3) BrTd
(4) I aW

1[Option ID=33893]
2[Option ID=33894]
3[Option ID=33895]
4[Option ID=33896]

Sl. No.56
QBID:17652031

Marginalisation of tribal communities in India may not be understood in terms of:
(1) Dispossession of claim over natural resources

(2) Displacement as a result of development projects

(3) Attachment towards traditional ways of life

(4) Limited scope of social mobility

frafeeaa o 3 fogs a1 1 S Sgerl & SMidioul o 18! S o 96dl 62
(1) Wil 9Tl 1R aTd I de@dl (Sesfl-gIum)

(2) fgbr uRgleHl & Uikomd & U ¥ fawim

(3) Siigq & URIORI deldh o Wi i
(@) graTfee TfaRiierdarn & fore i &4

1[Option ID=33897]
2[Option ID=33898]
3[Option ID=33899]
4[Option ID=33900]

Sl. No.57
QBID:17652032

In 1865, High Courts were established at:
(1) Calcutta. Madras. Bombay

(2) Calcutta, Agra, Bombay

(3) Madras. Delhi. Bombay

(4) Calcutta, Delhi. Madras

ay 1865 #, fop Troal § 3= Tyl B T ot 7T |
(1) HAGN, AER], T35

(2) Hedhal, 3R], T

) Tg, o], g

(@) FHaddl, [Gedl, gary

1[Option ID=33901]
2[Option ID=33902]
3[Option ID=33903]
4[Option ID=33904]

Sl. No.58
QBID:17652033

The Subaltern studies approach propagates one of the followings:
(1) The political consciousness of elites

(2) The traditional Marxist narratives of history

(3) The history from below

(4) The essentialist view

aTee- AL SN FHfiRgd 3 9 69 waid s 6 2
(1) ST PT IS dD-a1

() gfIer™ &1 URURS Aredare] aui—

3) Al sfds™

(4) diicdParard! efyehiu

1[Option ID=33905]




2[Option ID=33906]
3[Option ID=33907]
4[Option ID=33908]

Sl. No.59
QBID:17652034

Secularism in the Indian context means:
(1) The state enforces a particular religion in the country

(2) The state must maintain a prineipled distance from religion

The state gives patronage to the majority religion over minority
religions

(4) All of the above

YRaT Tl F yrRUerdmaTe 31 3wy &

(1) 5 YHIGUY B ¥ & Hiar SRIfUT B 8
(2) I Bl v I FGiad: g8 SRR 3@ 918y

(3) Y ST Al o Bl Seueied yH o1 AU YD YT USH Hdl &
4 Ixdad gt

1[Option ID=33909]
2[Option ID=33910]
3[Option ID=33911]
4[Option ID=33912]

3)

Sl. No.60
QBID:17652035

By adopting universal adult franchise. the Constitution of India establishes:

(1) Social equality

(2) Political equality

(3) Direct democracy

(4) All of the above

W TUEP HAUPR & HUTEU gRI HRIG iy § FafaRad o wuar S
(1) FATSS FATA

(2) ISHdE FHE

(3) T The

4 Sqdad ot

1[Option ID=33913]
2[Option ID=33914]
3[Option ID=33915]
4[Option ID=33916]

Sl. No.61
QBID:17652036

Who said this: “With almost lightning speed everything that stands in the way of capitalistic culture is being crushed”.

(1) Max Weber
(2) Karl Marx
(3) David Harvey

(4) Vladimir Lenin

“goftardt Tepfa & Al # 31 arelt Ud® SrSEe T Wt @t I § Y 31 o1 el Bl 9% S e
(1) Tggaae

(2) FHTd qIad

3) sfassd

(4) TR A

1[Option ID=33917]
2[Option ID=33918]
3[Option ID=33919]
4[Option ID=33920]

Sl. No.62
QBID:17652037




A Statement: Monetary policy is completely ineffective in the horizontal section of the LM curve.
B. Reason:  In the horizontal section of LM. everyone expects bond prices to fall in future.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) A and B is true and BR i1s the correct explanation of A
(2) Aand B is true but B is not the correct explanation of A

(3) Ais true and B is false.
(4) Ais false and B is true.

= &1 S AU MU & TP HUBUT (Assertion A) P =0 H [AIfEd 8 1 SURT 3HP BRI (Reason R) & ¥Y T:
HUGYT A LM TP & SR SFHFT H Aifee i gofa: fFsrurdt g |
BRUIR : LM & AR SAUA . & (d &1 wigw d gis geui § fRiae &1 yamsn g |

Sudad HYE & adie 3. A U T fdeedl § 9§ 5ed Sugad 3R &1 997 ST |
(1) A SRR G 6§ SRR AT ol A= ©

2) A SRR TEE AFTR AT T IR T ©

() AVEI g APAR WG TS &

(4) AWET 7 § W REET E

1[Option ID=33921]
2[Option ID=33922]
3[Option ID=33923]
4[Option ID=33924]

Sl. No.63
QBID:17652038

The book “The Logic of Practice™ was written by one of the following:
(1) Jurgen Habermas

(2) Karl Marx

(3) Max Weber

(4) Pierre Bourdieu

g it 3P ey &1 aa- fafaiaa § 9 fe famar -
(1) S eI

(2) BRI

(@) I dR

(4) TR RS

1[Option ID=33925]
2[Option ID=33926]
3[Option ID=33927]
4[Option ID=33928]

Sl. No.64
QBID:17652039

The materialist theory of history perspective is attributed to one of the following:
(1) Hegel

(2) Karl Marx

(3) Max Weber

(4) Herbert Spencer

sfaem & Hifdmard! figia &1 uRuien Fofeaied 5 T o Jefta e
(1) BATd

(2) DR

@) I dW

(4) o WR

1[Option ID=33929]
2[Option ID=33930]




3[Option ID=33931]
4[Option ID=33932]

Sl. No.65
QBID:17652040

India’s Rank in the UNDP Human Development Index Report 2020:

(1) 130

(2) 131

(3) 132

(4) 133

gUASIYl (UNDP) &1 H1Hd [aaT9 gadbis RUIE 2020 & AR YR & Ryl Fafeiad 8 9 oF | g2
(1) 130

(2) 131

(3) 132

(4) 133

1[Option ID=33937]
2[Option ID=33938]
3[Option ID=33939]
4[Option ID=33940]

Sl. No.66
QBID:17652041

Match List I with List IT and select the correct answer from the codes given below:

1A, Class, Caste and Power [. B.ER.Ambedkar

: : [[ Emile
B. Homo Hierarchicus Dickheion
C. The Annihilation of Caste I1I. Andre Beteille|
D. _ The Division of Labour in AE e Dt
Society

(1) A-L B-II, C-IIL. D-IV
(2) A-IIL B-IV, C-1. D-II
(3) A-IL, B-IL. C-IV, D-I
(4) A-IV, B-IIL, C-11. D-1
=il 191 g1 1 9 fire ifere

T T 1
A |FWHFRETEUER | 1 |& 3R EsH
B. |gHIgEfda I |3HRd gEH
C. & Ufafecrs S L |afig afed

D. E‘faﬂa ;ﬁqﬁw V. |9 =<
frafoad famedl # T 9t SR @1 907 DI -

(1) A-L B-I C-III, DIV
(2) AL B-IV.C.ID-II
(3) AJILBIIL CIV.DI
(4) AIV,B-II CILDI

1[Option ID=33941]
2[Option ID=33942]
3[Option ID=33943]
4[Option ID=33944]

Sl. No.67
QBID:17652042

Which of the following concepts is not directly related to social change?

(1) Social evolution
(2) Phenomenology

(3) Historical Materialism
(4) Diffusion

frgfafaa § 9 ST 3R Tda ¥ § 9HETeie uRadd I Jafid el 82
M) gmIo® 4 fdera




(2) TRgYeH fagH
() Ufeifae Hifdwarg
(@) fgaRor

1[Option ID=33945]
2[Option ID=33946]
3[Option ID=33947]
4[Option ID=33948]

Sl. No.68
QBID:17652043

“Something 1s happening in our world. The masses of people are rising up. And wherever they are assembled today. whether they are in
Johannesburg. South Africa: Nairobi, Kenya: Accra. Ghana: New York City: Atlanta, Georgia: Jackson. Mississippi: or Memphis.
Tennessee — the cry 1s always the same: “We want to be free.” Who said the above quotation and in which context?

(1) Mohandas Karamchand Gandhi while fighting against racial segregation rules in South Africa.
(2) B.R. Ambedkar while addressing the All India Scheduled Caste Federation
(3) Martin Luther King while addressing the activists and sanitation workers on strike at Memphis, USA.

(4) Bernie Sanders during the Presidential Campaign in the US elections 2021,

AR fa% # $© €1 67 81 o1 96 TSI 61 Xe1 © | 3R ST 37t ofgl-cT U &1 36 €. 916 3 SieT e, afam spie, 42, S,
SR, T, TS T, sfeaier, Ao, S, R a1 25y, <=0 81 - YPR TP ol ¢ T8 Jad oHl 916d & |' SWRiad
FHU [ el U1 SR fpu dgy H g a2

(1) TGS $xaag il 3 &0 siple § A%ig gyaso & faars 99y $d gU $ell

(2) . AR, FIH 1 HIeT ST RSYS P B Bl YalfTd Bd U Del)

(3) HIEA R 71 3 Affpw, smive ¥ gsara W gihgdmar! 3R GWlgeihdl &f aied $d gu Hall
@) S Fd 7 AT & 2021 B Ipufa 919 i F ERE @l

1[Option ID=33949]
2[Option ID=33950]
3[Option ID=33951]
4[Option ID=33952]

Sl. No.69
QBID:17652044

As per the 5t National Family and Health Survey Report (NFHS-5) 2019-20 released by the Ministry of Health and Family Welfare.
Government of India, which of the following statements are correct:

A. One-third of women and slightly over half (51%) of men age 15-49 have ever used the iternet.
B. More than 90% of Indian population have used internet.
C. The prevalence of anaemia among children age 6-59 months is highest among children in Gujarat (80%). followed by Madhya

Pradesh (73%).
D. Anaemia prevalence has increased between NFHS-4 and NFHS-5. from 53 per cent in 2015-16 to 57 per cent in 2019-21 among
women.

E. The prevalence of stunting in children under age five is the highest in Meghalaya (47%), followed by Bihar (43%) and Uttar Pradesh
and Tharkhand (40% each)
(1) All the above statements are correct
(2) None of the above statements are correct
(3) Oaly C, D and E are correct

(4) A.C.D and E are correct

A Ud URAR S HATed, HRd SR gRI &RT 541 A51Y URGR Ud WA el RUTe (TTUBUEUE-5) 2019-20 & 4R,
FaffEad s T YT IR 2

A. 15-49 3431 1 U fdgTs Bieand Ud Sa 4TSt i@ (51%) T9Y Tal-Hal 5e=-1¢ &I Fal $d g

B. 90% T 3% HRITY TR Sex-e ST M IRl § |

C. 6-59 TTE S & a=di H T &1 Jaa- T6RTd (80%) HallUd g SR 34 ala ALY H (73%) B

D. I{:ﬂmfﬂgﬂﬂ?tﬁw.@I{F-4 3R U905 U9.09-5 & e, Afgarsi & a¥ 2015-16 H 53 Ufawrd 9@y 2019-2021 F 57
PIRRGE

E. wﬂ%mw%ﬁﬁ%wwﬁmﬁm o) JATH & 3R 3P a5 fGeR H (43%). IR YW gU1 IRES |
(40%) B

4 fau e famed! & 4 9ad S9gad SR o1 997 BT




Q) IR g FuT el ©

(2) IRIed Hui § AP i geT ST 8
(3) C.DSRETEI 8

(4 A C.DIIREWE &

1[Option ID=33953]
2[Option ID=33954]
3[Option ID=33955]
4[Option ID=33956]

Sl. No.70
QBID:17652045

Which of the following statements are correct?

A The report on Multidimensional Poverty Index (MPI) by Government of India is based on three indicators — access to
education. health care facilities. and basic household amenities.

B. Bihar had the highest share of “multi-dimensionally poor™ people.

C. The share of “multi-dimensionally poor”™ people in Kerala is more than in Gujarat.

D. Although growth in India’s Gross National Income (GNI) has been much higher than the average of South Asian countries, the
inclusiveness of this growth — either in terms of income, poverty reduction. or in improvement in key social indicators — has not been
relatively high.

(1) All the above statements are correct
(2) None of the above statements are correct
(3) Oualy C is correct

(4) A.B. and D are correct

FafiiEd § A HH I PUT IE 8 2

A. YR IPR I 95 A 1 gabid (Uadlsng) Hidded [RIa &1 gordr, Wre e $iR srURyd o ge-glaurd-
A Es Rk

B. ‘Sg Al (e i &1 waifie AR f[eR & artl 1 o |

C. Ia | T e T B AeeR] ORI B SuaT E T |

D. gl YRd B Gebd AP 3414 (SHU-13015) T gfs Sférr ok <=l & 3rgd &1 shen 9gd U 8. )R 59 ghs &t aumaid -
31, frefar & ot a1 v e gae! § gUR S UG E - AfEe U A SR © |

9 fRu Tt fawedl & 9 9ad S9gad SR 1 99 B
(1) IIRIET gl oA Fel ©
(2) FWRIE SU H A PIg H H6l T8l ©

(3 cadle
(4) A,.BIRDTSIE

1[Option ID=33957]
2[Option ID=33958]
3[Option ID=33959]
4[Option ID=33960]

Sl. No.71
QBID:17652046

According to the Census 2011, Kerala with 1084 has the highest sex ratio. Which other state is close to Kerala on this parameter?
(1) Puducherry

(2) Daman and D
(3) Haryana

(4) Himachal Pradesh

gy 2011 DI TFRIVFT & SHR, 1084 & HIY BT B (YT Falidd § | 59 AHGs R HEfiiad I 9 &1 91 70 33d & e




1[Option ID=33961]
2[Option ID=33962]
3[Option ID=33963]
4[Option ID=33964]

Sl. No.72
QBID:17652047

Which of the following statements are correct as per the Economic Survey 2021-2227

A. Economic Survey has shifted from the two-volume format to a single volume plus a separate volume for statistical tables.
B. It marks a shift from a “Waterfall” approach to an “Agile™ approach.
C. The sector which was the least impacted by the pandemie-related disruptions was the agricultural sector.
D. Miero, Small and Medium Enterprise (MSMEs) do not contribute significantly to the economic and social development of the
country.
(1) All the above statements are correct
(2) None of the above statements are correct
(3) Oanly C and D are correct

(4) A.B. and C are correct

nfifer Tdefor 2021-22 F AR FARf@T P T A PH I TR & 2

A. 3T Tdeur 1 WS URET I, U WS UR=U H, 3@ Qe 11 aifadiai & UReY & 91y, R 8l T gl
B. U% TP JUTH I TS SUNTH ST 3R gRad- &f aRaféd #earg |

C. Sl &2 uemR! Ul faue gRI 9ay o0 guIfdd g3 98 S &7 U7 |

D. Y&, 7Y Ud B I (THUHUHS) 331 & 3A1fdd Ud W1 Ao & [ He@yyl 9 3 giTeH Tg] &d o.

1= fGu Tt fabedl § 9 9a¥ SUgad STR &1 90 HITT:
(1) IRed TR FUT IS ®

(2) IWIGd FUAI T I P i 98 Tel

(3) CcARDTE B

(4 A.BIRCUT®

1[Option ID=33965]
2[Option ID=33966]
3[Option ID=33967]
4[Option ID=33968]

Sl. No.73
QBID:17652048

Match List I with List IT and select the correct answer using the codes given below the Lists:

LISTI LISTII
(Bills) (Status)
A The National Food L Withdiasis

Secunty Bill

Farmers™ Produce Trade
and Commerce
B, (Promotion and L. Lapsed

Facilitation) Bill 2020

" Essential Commodities -
€ [iSmeadnentyBiitogg | 8- [Withdras

The Protection of
Children From Sexual -
D; Offences (Amendment) IV.  [Passed

Bill, 2019

Choose the correct answer from the options given below:
(1) A-IV, B-1. C-III, D-II
(2) A-L B-II, C-IIIL. D-IV
(3) A-IV, B-IL C-III, D-I
(4) A-L B-II C-II. D-IV




= 11! 11 ¥ e Sifeg

T 1 (e I 1 (Rt
A FmwyRanfed | 1 [9oF fammn

p | @AW | | R

C. i) AT 2020 . |9y fomrman

D. |@WRew @@ | v |uRe femmn

fFafRad fadedl & 9 9gl 3R &1 994 it -
(1) A-IV, B-I, C-III, D-TI

(2) A-I B-II, C-III, D-IV

(3) A-IV,B-II, C-III, D-1

(4) A-I B-IIL C-II, D-IV

1[Option ID=33969]

2[Option ID=33970]

3[Option ID=33971]
4[Option ID=33972]

Sl. No.74
QBID:17652049

Which of the following statements are correct?

A, The gross non-performing assets (NPAs) of private sector banks have reported an increase from 1.8 trillion in financial year 2019 to
two trillion Indian rupees in financial year 2021.

B. The gross non-performing assets (NPAs) of public sector banks have doubled in the last seven years to Rs. 5.40 lakh crore in 2021
from Rs. 2,24 lakh crore in 2014,

C. State Bank of India (SBI) topped the list. with its bad loans rising to

Rs. 1.21 lakh crore as of September 2021 from Rs. 74.482crore in June 2014,

(1) All the above statements are correct

(2) None of the above statements are correct

(3) Only A is correct

(4) Only A and B are correct

FoffEad d AP I P IR 8 2

A.ﬁﬁéﬁ%ﬂiﬁ&%ﬂwﬁ?ﬁmﬁﬁqﬁ?ﬁﬁﬁﬁ?ﬂﬂaﬁmw% 1.8 feform= @ fadg av 2021 A a efe T WRA 390 &
TUN ST DG |
B. UIA9-® &3 & db] &1 Gpd IR-efed uiRkgaftml, o 2014 & 2.24 TR SIS T a8 2021 § 5.40 TG RIS, T A1 a8t §

AR
C. 3U- Gad BUTH G, 2014 & &, 74,482 PRUS ¥ [FdaR, 2021 & 1.21 TR IS & 9 1§ gl & Y T § 3% 5isq1

mﬂaﬁa@@ﬁqﬁém%
1= fGu Tt fabedl § 9 9a¥ SUgad STR &1 90 HITT:
(1) IWied TR HUT IS ®
(2) IWIGd FUAI T I Fis i 9e Tl
(3) ATElT
(4 ARBUEIE

1[Option ID=33973]
2[Option ID=33974]
3[Option ID=33975]
4[Option ID=33976]

Sl. No.75
QBID:17652050




Which political ideologies are reflected in the statements mentioned below?

A The reason why men enter into society is the preservation of their property: and the end why they choose and authorize a legislative
1s that there may be laws made and rules set as guards and fences to the properties of all the members of the society to limit the
power and moderate the domination of every part and member of the society.

B. The history of all hitherto existing societies is the history of class struggle.

(1) Marxism in 1 and Gandhism in 2
(2) Liberalism in 1 and Marxism in 2
(3) Gandhism in 1 and liberalism in 2
(4) Marxism in 1 and 2 both

= fod T Byt & o i Ienfe [GeRuRT wlafdfsd eidi g -

1. TG &1 99T § U &3 P SR IGDT 30T GUftl BT GRIEUT 8. 3R 3fdd: 9 57 SR Y fardt [Gem &1 7d § 9k
WG PR & FTh a6! BT &1 ofl T & IR &1 & o9 1 90 7 658 o 9o & a4 90d & T4 98] o 9ot
IR ERTEE] B Qickd ! HITHd a1 SIal 3 auT SIS & Ydd T Ud 968 & YYd S ddfad fear s s |

11 3 d% Hf&fcaar I It o1 gfae™ o7 99y &1 3fde™ § |

) 1 griare qur o 8 idtarg
() 1 IeRarE aul 11 § Aredare
3) 1H Titfiarg qul i1 § SgRae
(4) 1 3R 11 gH1 § Araiarg

1[Option ID=33981]
2[Option ID=33982]
3[Option ID=33983]
4[Option ID=33984]

Sl. No.76
QBID:17652051

Match List I with List IT and select the correct answer using the code given below the Lists:

LISTI LISTII

(Exponent) (Theory)
A |Eva Balfour 1. |Stages of development
B. |WW. Rostow II. |Centre-periphery theory
C. |A.G. Frank III. |Environmental theory
ol e s v Development of

underdevelopment
v Sustamnable

development

Choose the correct answer from the options given below:
1) A-I. B-V. C-IV. D-II

(2) A-IIIL B-I. C-IV. D-IT

(3) A-IIL B-IV. C-1. D-III

(4) A-IV. B-l. C-III. D-V

= 1 1Y Gl 11 D1 fHeH Difsg

a1 T 11
CIGRIEED) GG
A |30l §eh Y I [fdTE B Sawid
B. [g&yg S&g KT 1L [ps-uiiy [eid
C [T<h @ 11 [gOiaRuy sl
D. [§HR 3HH V. [31dfdhry ol [dbrg
V. [duRUg T

fFafaRad fdedd & I T8l 3R &1 904 S :
(1) A-IB-V.C-IV.D-II

(2) A-IIIL B-I. C-IV, D-II

(3) A-II B-IV, C-I, D-III

(4) A-IV, B-I. C-III. D-V

1[Option ID=33985]




2[Option ID=33986]
3[Option ID=33987]
4[Option ID=33988]

Sl. No.77
QBID:17652052

The Jim Crow Legislation in US was responsible for:
(1) Segregation of different communities
(2) Reparations of previously segregated communities

(3) Common schools for blacks and white
(4) Ban on racial diserimination in offices

guy # form ot faur fgfafad eq Saeard 4
(1) ot geeml &1 guaH

(2) Ud gyadd Ggardl &1 ufagfd
(3) 34d UG 4d oq G-id [deay
(4) el # AT YgHE | glasy

1[Option ID=33989]
2[Option ID=33990]
3[Option ID=33991]
4[Option ID=33992]

Sl. No.78
QBID:17652053

Which one of the following pairs does not form part of the six systems of orthodox schooel of Indian Philosophy?

(1) Mimansa and Vedanta

(2) Nyaya and Vaisheshika

(3) Lokayata and Kapalika

(4) Samkhya and Yoga

Fafead O 9 &F 91 g YR 3H &1 Sieard] ¥R &1 ©8 oawiIsil & y1 3§ Wifd gl § 2
(1) Hiwr SR aaf

(2) R 3R aRtep

(3) TPTId 3R HUITDd

(4) AT R AR

1[Option ID=33993]
2[Option ID=33994]
3[Option ID=33995]
4[Option ID=33996]

Sl. No.79
QBID:17652054

Which of the following statements regarding a No-Confidence Motion in the Indian Parliament is/are correct?

A. There is no mention of a No-Confidence Motion in the Constitution of India.
B. A Motion of No-Confidence can be introduced in the Lok Sabha only.

Choose the correct answer from the options given below:
(1) Aonly

(2) Bonly

(3) BothAand B

(4) Neither Anor B

yRdlg g9g I sifayre ya & def 1§ Fefafad sy § @ sRaa el ag 2
1. UG Sfay™ 5 A3y Udd $T $ig Il 7ol 6 |

11. ATIYTT T U9 Had Aip gy § @ 5 9ol g |

(1) Faql

(2) FHFA 1
(3) 13RI




(4) IR

1[Option ID=33997]
2[Option ID=33998]
3[Option ID=33999]
4[Option ID=34000]

Sl. No.80
QBID:17652055

The Lorenz curve shows:
(1) Patterns of poverty between developed and developing countries.

(2) The change in GDP per capita over time.
(3) The poorest’s income shares fall in the early stages of growth.

(4) Income concentration relative to a 45-degree line.

Aot aep Hafaiad ¥ 3 o1 yefkid a2

) ofyd ud faeaeiia i & e Ad=ar &1 ufaey

) SiiSdi # ufer safed siftrepre gRad=

3) g B SRS sawi T gaiivs M= safdal B o wer § friae
@ 45 {5t @ & e amm Y=o

1[Option ID=34001]
2[Option ID=34002]
3[Option ID=34003]
4[Option ID=34004]

Sl. No.81
QBID:17652056

Which five-year plan in India had ‘poverty alleviation” as one of its objectives?
(1) Second five-year plan

(2) Third five-year plan

(3) Fifth five-year plan

(4) Eleventh five-year plan

yRd 1 Fafafed & 9 fey daadfa diem & 3531 ¥ 3t TR_Id! S U1 2
) fgdg daadfa gremT

(2) qaitg deaeiy e

(3) U= U=aNi e

(4) TREdl Ygauig gieH

1[Option ID=34005]
2[Option ID=34006]

3[Option ID=34007]
4[Option ID=34008]

Sl. No.82
QBID:17652057

Which of the following statement{s) is/are correct?

A Pradhan Mantri Kaushal Vikas Yojana (PMKVY) is the flagship programme of Ministry of Skill Development and entrepreneurship.
B. PMKVY 3.0 targeted to skill 8.5 lakh candidates including migrants.

Choose the correct answer from the options given below:
(1) Only A is correct

(2) Ounly B is correct

(3) Both are correct

(4) Both are incorrect

a8 Ao A SUT g o8 2

HeTHAT DINTE [GH ™ GoT (JHddian) SR [AeTy Ud Sl Hared @ @odid SHdH o |
Yiundrdlarg 3.0 BT 060 YAl Higd 8.5 TR 31l &) $d a1 8 |

1) FaaITel e




@) FaanIee
(3) T el
) PIg 1 FE TEl &

1[Option ID=34009]
2[Option ID=34010]
3[Option ID=34011]
4[Option ID=34012]

Sl. No.83
QBID:17652058

Under the PLFS, which parameter of the household members has been given 75% weightage while selecting households in both rural and
urban areas?

(1) Per capital consumption expenditure
(2) Health

(3) Education
(4) Income from non-agricultural activities

JIuaumUy & siaiid. Tewll & ewl & &9 AFcs A IHIv Ud AR g1 &3 H il &1 997 &R 99Y 75% Hed UaH (ddl
27

(1) Yid fad U4 o0y

(2) WY

(3) faram

4 RPN BrEiFHad ¥ am
1[Option ID=34013]

2[Option ID=34014]

3[Option ID=34015]
4[Option ID=34016]

Sl. No.84
QBID:17652059

According to PLFS estimates the Female Labour force Participation Rate in India during 2017-18 to 2019-20 have been shown:

(1) Stable

(2) Declining

(3) Increasing

(4) No discernible Trend

JIUaUH T ST & HTIR a8 2017-18 F 2019-20 & GRH YR § Afgd 4fe a0 yriier! & deu & FHafafad 9a verfida
1) f@Re

(2) GREEIREIE

) ST

) B ITHIRIEIE

1[Option ID=34017]
2[Option ID=34018]
3[Option ID=34019]
4[Option ID=34020]

Sl. No.85
QBID:17652060

Please read the following and answer:

The new wage code bill states that the employer can deduct wages for various reasons. However. the deductions should not exceed 50% of
the workers wages. What these reasons are?

A.Fines

B. Absence from duty

C. Accommodation given by the employer
D. Advances given to the employee

Choose the correct answer from the options given below:
(1) AOnly




(2) AandB Only
(3) A.B and C only
(4) All of the above

[FEfTiad &1 uigd SR TR alfore:

41 3o Tfear | oo a1 ¢ b e afid sRoi S 399 § Seidl o 9odr ¢ | Ui, Seldt SR & da- & 50% I e
T e TR | T PRUBHIE 2

A, SEAT

B. P ¥ Uy

C. (IR gR1 Wad H1arE

D. HHAR BT & Wt e eI

19 fGu Tt fodbedl § 9 9a¥ SUgad STk 1 90 BHIIT:
(1) Had A

(2) HadAdRB

(3) HAAA, B3R C

(4) IURIeT i

1[Option ID=34025]
2[Option ID=34026]
3[Option ID=34027]
4[Option ID=34028]

Sl. No.86
QBID:17652061

India is regarded as a country with “Demographic Dividend.” This is due to:
(1) Its high population in the age group below 15 years
(2) Its high population in the age group of 15-64 years
(3) Its high population in the age group above 65 years

(4) Its high total population

YR B SHIHS T ATHTIETT 3% HE oIl & | 78 Fufifad & sRro#:
(1) 15 a4 I HGaH $I I SAAT B BRI

(2) 15-64 G A DI T THEAT & DRI

(3) 65 TN I AP YT Bt FF TG P DR

(4) P I STHAT B PRI

1[Option ID=34029]
2[Option ID=34030]
3[Option ID=34031]
4[Option ID=34032]

Sl. No.87
QBID:17652062

The Economic Survey (2020-21) examined the impact of economic growth and inequality on poverty alleviation. What conclusion was
drawn by the survey?

(1) Inequality has a far greater impact on poverty alleviation than economic growth.
(2) Economic growth has a far greater impact on poverty alleviation than inequality
(3) Impact of both on poverty alleviation is same

(4) No impaet of economic growth and mnequality on poverty alleviation.

gﬂ%ﬁm(zozo-zn. a1 3 R aidie 9ig Ud SHEFar & UHIG &1 URIE0] BT § | Ha&l gRI &I 9 [y Habren

(1) 3% 3fs & gorad HeHa =0 R SR Sl S@fs 949E §
(2) SRAHF B 30T e 39 W e 9fE &1 siafie qua g
(3) e e UR & H &1 WHIE 99 §

4 A 9= &R e afs ud s &1 3l U@ Tl ©




1[Option ID=34033]
2[Option ID=34034]
3[Option ID=34035]
4[Option ID=34036]

Sl. No.88
QBID:17652063

Arrange the following acts enacted in chronological order from the earliest to later.

A. Child and Adolescent Labour (Prohibition and Regulation) Act.
B. National Food Security Act

C. Transgender Persons (Protection of Rights) Act

D. Rights of Persons with Disabilities Act.

Choose the correct answer from the options given below:
(1) B.A.C.D
2) B.A.D.C
3) A.B.C.D
@) A.B.D.C

frafafad sfufaat o sfafafid 85 & rarded 1 SRS ¥ 3Edd & oF § ogdiud Sifvit:

A. 9190 Ud R yY (Wiavy 3R fafHaem) sififmm
B. WP AT WRef tfefad

C. TIoiSx ogia (SIUPR TRE) Sie-gq

D. [H:31ad sufdd sfEaR fef—ag

= feu U fowedl § O U8l SR &1 999 S
(1) B.A.C.D
2) B.A.D.C
3) A.B.C.D
@) A.B.D.C

1[Option ID=34037]
2[Option ID=34038]
3[Option ID=34039]
4[Option ID=34040]

Sl. No.89
QBID:17652064

According to World Migration Report (2020), which are the countries that continue to be the largest origins of international migrants in
descending order?

(1) India. Bangladesh. Mexico
(2) Mexico, India, Bangladesh
(3) India. China. Mexico

(4) India. Mexico. China

fereg ey R 2020 & AR, Fafafad <=if § § srawsia yarfet & Faffie Seua are 321 &1 SFRIE 5 H S ¢
(1) YR, SIS, Higged!

(2) HiFge!, YR, Il

(3) YRd. =, BfFge!

(4) YR, JfFgel. 9H

1[Option ID=34041]
2[Option ID=34042]
3[Option ID=34043]
4[Option ID=34044]

Sl. No.90
QBID:17652065

The Female Labour Force Participation Rate of which South Asian country is nearly four times than that of India?
(1) SriLanka

(2) Nepal

(3) Bhutan

(4) Bangladesh




frafafad o 9 foow sfém uitmE 39 &) afga yawfeq yiiieil R YR 31 shel T IR T 8 2
(1) i

(2) =grd

(3) HIH

(4) FHAEE

1[Option ID=34045]
2[Option ID=34046]
3[Option ID=34047]
4[Option ID=34048]

Sl. No.91
QBID:17652066

Match the following:

LISTI LISTII
First O1l Crisis I. |2016
B Glpbal Fiancial o |17
Crisis
Implementation of
GST IIL.  |2008
D. |Demonetization IV. |1973

Choose the correct answer from the options given below:
(1) A-IV, B-II, C-III, D-I
(2) A-IIIL B-II. C-IV, D-I
(3) A-IIL B-IV. C-I. D-TI
(4) A-IV. B-III. C-II. D-I

g 11 g 11 9 e $ife

T 1 T 11
A |muHdE dme L |2016
B. |af¥@ fa<iig d@e I [2017
c |Shued #1@miaa| oo [2008
D. |fagsi®or W [1973
fFafarad fasedi & 9 9ol 3R &1 994 Bifo ;

(1) A-IV.B-II C-III. D-1
(2) A-III B-II. C-IV, D-I
(3) A-III B-IV, C-I, D-II
(4) A-IV. B-III. C-II. D-1
1[Option ID=34049]
2[Option ID=34050]

3[Option ID=34051]
4[Option ID=34052]

Sl. No.92
QBID:17652067

When a research problem is related to heterogeneous population. the most suitable sampling method is:
(1) Lottery Method

(2) Cluster Sampling

(3) Stratified Sampling

(4) Convenient Sampling

e (S ST O el 2Y-SHl 3 Bll ¢ dl SHe O galle Suge Aldad UGl o
() qresd fafy

(2) T wid=g

(3) WRipd WidagT

(4) FauTerTe Hid=a




1[Option ID=34053]
2[Option ID=34054]
3[Option ID=34055]
4[Option ID=34056]

Sl. No.93
QBID:17652068

The way income is distributed across individual and housecholds is refer to as:
(1) Absolute Inequality

(2) Relative Inequality

(3) Vertical Inequality

(4) Horizontal Inequality

caferal ud et & ot for v9 3 3ima &1 fa=Ror €1 2. 98 seanar e
(1) TR SEE

(2) TTUET STl

(3) FHeEER FTHFAI

() STUR SIHTAT

1[Option ID=34057]
2[Option ID=34058]
3[Option ID=34059]
4[Option ID=34060]

Sl. No.94
QBID:17652069

Match the following:

LISTI LIST IT
Ministrv of
Report on Currency
A |Commerce and L :
and Finance
Industry
Minstry of Statistics Labour and
B. |and Programme II. |Emplovment
Implementation Statistics

Foreign Direct

C. |Reserve Bank of India | IIL o
Investment Statistics

Ministrv of Labour v National Accounts

and Employment Statistics

D.

Choose the correct answer from the options given below:
(1) A-IV. B-II C-I1. D-I
(2) A-IL B-IV, C-I. D-IT
(3) A-IV. B-I1. C-III. D-IT
(4) A-IL B-1V, C-II. D-I

= 11 G 11 ¥ e Hifey

T 1 T 11

A

. T vd dE®He ii 37 g Faea

; : ; - irors
w&lﬁﬁsﬁﬁam

C |uRdmfoda® LLLE Mo

p, MR W [ S iR
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Which of the following statement is/are correct?

A. Pradhan Mantri Rojgar Protsahan Yojana (PMRPY) was launched on 19th August 2016.
B. Main objective of PMRPY is to incentivise employers for creation of new employment.

Choose the correct answer from the options given below:
(1) Only A is correct

(2) Oualy B is correct

(3) Both are correct

(4) Both are incorrect
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Read the following paragraphs from Ursula Huws Labour in a Digital Economy and answer questions.

The year 2008 marked a turning point for international capital. with the finanecial crisis providing an unprecedented opportunity to embark
on a new phase of accumulation based not on what might be called “Primary primitive accumulation™ (the generation of new commodities
from natural resources or activities carried on outside the money economy) but on the commodification of public services. In this
commodification process. which might be regarded as a kind of “secondary primitive accumulation.” activities already carried out in the
paid economy for their use value (such as education. or health care) are standardized in such a way that they can be traded for profit and
appropriated by capital: use value is thereby transformed into exchange value. This secondary form of accumulation 1s based on the
expropriation. not of nature or unalienated aspects of life. nor of unpaid domestic labour, but of the results of past struggles by workers for
the redistribution of surplus value in the form of universal public services. It thus constitutes a reappropriation and as such it’s impacts on
working-class life are multiple and pernicious.

For the workers actually delivering public services, new forms of alienation are introduced when these services are commodified and there
is generally a deterioration in working conditions. However, there are also larger implications for workers in other sectors. because public
sector workers are. in most developed countries, the last remaining bastion of trade union strength and decent working conditions. setting
the standards for other workers to aspire to. This means that the erosion of the bargaining position of public sector workers also represents
a defeat for all workers in their capacities as workers. At an even more general level. past gains are snatched from the working clags as a
whole (including children, the elderly. the sick. and the unemployed).... It is inereasingly difficult. if not impossible. to separate “finance
capital” from “productive capital” either analytically or empirically.
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According to Huws, the 2008 economic crisis brought about fundamental changes in the capitalist system because it:

(1) Alienated workers from their own natural resources
(2) Strengthened transnational corporations

(3) Led to the merging of finance and productive capital
(4) All of the above
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Read the following paragraphs from Ursula Huws Labour in a Digital Economy and answer questions.

The year 2008 marked a turning point for international capital. with the finanecial crisis providing an unprecedented opportunity to embark
on a new phase of accumulation based not on what might be called “Primary primitive accumulation™ (the generation of new commodities
from natural resources or activities carried on outside the money economy) but on the commodification of public services. In this
commodification process. which might be regarded as a kind of “secondary primitive accumulation.” activities already carried out in the
paid economy for their use value (such as education. or health care) are standardized in such a way that they can be traded for profit and
appropriated by capital: use value is thereby transformed into exchange value. This secondary form of accumulation 1s based on the
expropriation. not of nature or unalienated aspects of life. nor of unpaid domestic labour, but of the results of past struggles by workers for
the redistribution of surplus value in the form of universal public services. It thus constitutes a reappropriation and as such it’s impacts on
working-class life are multiple and pernicious.

For the workers actually delivering public services, new forms of alienation are introduced when these services are commodified and there
is generally a deterioration in working conditions. However, there are also larger implications for workers in other sectors. because public
sector workers are. in most developed countries, the last remaining bastion of trade union strength and decent working conditions. setting
the standards for other workers to aspire to. This means that the erosion of the bargaining position of public sector workers also represents
a defeat for all workers in their capacities as workers. At an even more general level. past gains are snatched from the working clags as a
whole (including children, the elderly. the sick. and the unemployed).... It is inereasingly difficult. if not impossible. to separate “finance
capital” from “productive capital” either analytically or empirically.
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By ‘Secondary primitive accumulation’ Huws refers to:

(1) Commodification of public services
(2) Privatization of public services

(3) Scramble for natural resources

(4) Changes in state policies
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Read the following paragraphs from Ursula Huws Labour in a Digital Economy and answer questions.

The year 2008 marked a turning point for international capital. with the finanecial crisis providing an unprecedented opportunity to embark
on a new phase of accumulation based not on what might be called “Primary primitive accumulation™ (the generation of new commodities
from natural resources or activities carried on outside the money economy) but on the commodification of public services. In this
commodification process. which might be regarded as a kind of “secondary primitive accumulation.” activities already carried out in the
paid economy for their use value (such as education. or health care) are standardized in such a way that they can be traded for profit and
appropriated by capital: use value is thereby transformed into exchange value. This secondary form of accumulation 1s based on the
expropriation. not of nature or unalienated aspects of life. nor of unpaid domestic labour, but of the results of past struggles by workers for
the redistribution of surplus value in the form of universal public services. It thus constitutes a reappropriation and as such it’s impacts on
working-class life are multiple and pernicious.

For the workers actually delivering public services, new forms of alienation are introduced when these services are commodified and there
is generally a deterioration in working conditions. However, there are also larger implications for workers in other sectors. because public
sector workers are. in most developed countries, the last remaining bastion of trade union strength and decent working conditions. setting
the standards for other workers to aspire to. This means that the erosion of the bargaining position of public sector workers also represents
a defeat for all workers in their capacities as workers. At an even more general level. past gains are snatched from the working clags as a
whole (including children, the elderly. the sick. and the unemployed).... It is inereasingly difficult. if not impossible. to separate “finance
capital” from “productive capital” either analytically or empirically.
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The new phase of capitalism has led to a setback for workers” rights because:

(1) There is higher contractualization of services
(2) They lose their bargaining power

(3) There is no right to protest

(4) All of the above
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Read the following paragraphs from Ursula Huws Labour in a Digital Economy and answer questions.

The year 2008 marked a turning point for international capital. with the finanecial crisis providing an unprecedented opportunity to embark
on a new phase of accumulation based not on what might be called “Primary primitive accumulation™ (the generation of new commodities
from natural resources or activities carried on outside the money economy) but on the commodification of public services. In this
commodification process. which might be regarded as a kind of “secondary primitive accumulation.” activities already carried out in the
paid economy for their use value (such as education. or health care) are standardized in such a way that they can be traded for profit and
appropriated by capital: use value is thereby transformed into exchange value. This secondary form of accumulation 1s based on the
expropriation. not of nature or unalienated aspects of life. nor of unpaid domestic labour, but of the results of past struggles by workers for
the redistribution of surplus value in the form of universal public services. It thus constitutes a reappropriation and as such it’s impacts on
working-class life are multiple and pernicious.

For the workers actually delivering public services, new forms of alienation are introduced when these services are commodified and there
is generally a deterioration in working conditions. However, there are also larger implications for workers in other sectors. because public
sector workers are. in most developed countries, the last remaining bastion of trade union strength and decent working conditions. setting
the standards for other workers to aspire to. This means that the erosion of the bargaining position of public sector workers also represents
a defeat for all workers in their capacities as workers. At an even more general level. past gains are snatched from the working clags as a
whole (including children, the elderly. the sick. and the unemployed).... It is inereasingly difficult. if not impossible. to separate “finance
capital” from “productive capital” either analytically or empirically.
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The extraction of surplus value from unpaid work in the post-2008 capitalist order can be categorized as:

(1) Primary primitive accumulation
(2) Secondary primitive accumulation
(3) In both Primary and secondary primitive accumulation

(4) None of the above
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Read the following paragraphs from Ursula Huws Labour in a Digital Economy and answer questions.

The year 2008 marked a turning point for international capital. with the finanecial crisis providing an unprecedented opportunity to embark
on a new phase of accumulation based not on what might be called “Primary primitive accumulation™ (the generation of new commodities
from natural resources or activities carried on outside the money economy) but on the commodification of public services. In this
commodification process. which might be regarded as a kind of “secondary primitive accumulation.” activities already carried out in the
paid economy for their use value (such as education. or health care) are standardized in such a way that they can be traded for profit and
appropriated by capital: use value is thereby transformed into exchange value. This secondary form of accumulation 1s based on the
expropriation. not of nature or unalienated aspects of life. nor of unpaid domestic labour, but of the results of past struggles by workers for
the redistribution of surplus value in the form of universal public services. It thus constitutes a reappropriation and as such it’s impacts on
working-class life are multiple and pernicious.

For the workers actually delivering public services, new forms of alienation are introduced when these services are commodified and there
is generally a deterioration in working conditions. However, there are also larger implications for workers in other sectors. because public
sector workers are. in most developed countries, the last remaining bastion of trade union strength and decent working conditions. setting
the standards for other workers to aspire to. This means that the erosion of the bargaining position of public sector workers also represents
a defeat for all workers in their capacities as workers. At an even more general level. past gains are snatched from the working clags as a
whole (including children, the elderly. the sick. and the unemployed).... It is inereasingly difficult. if not impossible. to separate “finance
capital” from “productive capital” either analytically or empirically.
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Agrarian reforms of the Indian Government are characterized by:

(1) Deregulation of agricultural markets.
(2) Promotion of Agribusiness and value chains

(3) Withdrawal of state subsidies
(4) All of the above
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